

## Government of West Bengal Directorate of Forests Office of the Principal Chief Conservator of Forests (HoFF),

Aranya Bhavan, Block: LA-10A, Sector-III
Salt Lake City, Kolkata-700106
PH-2335-8581/7751,Fax No-23358756
E-mail: pccfwb@ysnl.net, wbcampa@gmail.com



No. 6425 /L&LT/2M-1169/15

Date: 28.09.2018

To

The Sandip Sahana,
BE(E) & Project Manager,
Paschim Medinipur,
RE Project,
West Bengal State Electricity Distribution Company Limited,
Rangamati, Midnapur – 721102

Sub.: Proposal for diversion of 3.7728 ha. of forest land in favour of the WBSEDCL for construction of 33 KV overhead Electric Line for the proposed pirakata (33/11 KV) Sub-Station under Medinipur Forest Division in Paschim Medinipur District.

Ref.: DFO/Medinipur Division's letter no. 1950/2-CAMPA dt. 10.08.2018 (Copy enclosed).

With reference to the letter quoted above you are requested to make payment of Rs.8,06,327.00 through Ministry's website <a href="www.forestsclearance.nic.in">www.forestsclearance.nic.in</a> for planting low height shrubs like Agave spp. and other incidental cost under electric line over 3.7728 ha. of Forest Land. No other mode of payment shall be accepted.

However, in case you are unable to pay within 29.08.2018, payment will have to be deferred till the State CAMPA fund becomes operational.

Encl.: As stated above.

Acre

Addl. Principal Chief Conservator of Forests / CAMPA

Nodal Officer, Forest Conservation Act, 1980 West Bengal

No.

/L&LT/2M-1169/15

Date:

.09.2018

Copy forwarded for kind information and necessary action to:

1) The Chief Conservator of Forests, Western Circle, West Bengal.

2) The Divisional Forest Officer, Medinipur Forest Division.s

Addl. Principal Chief Conservator of Forests / CAMPA

Nodal Officer, Forest Conservation Act, 1980 West Bengal



Government of West Bengal Directorate of Forests Office of the Divisional Forest Officer. Medinipur Division

M. M. Nagar, Midnapore, Paschim Medinipur:: 721 101 Phone - Fax:: (03222) 275869, e-mail: dfomd@yahoo.com

Visit us at: www.medinipurforest.com

Memo No-

1950 / 2-CAMPA;

Dated, Paschim Medinipur, The

10/08/2018

To The Addl. PCCF (CAMPA)

Nodal Officer, FCA, West Bengal

Sub. Proposal for Diversion of 3.7728 ha. Of Forest land in fovour of the WBSEDCL for

construction of 33 KV Overhead Electric Line for the proposed Pirakata (33/11 KV)

Sub-Station under Medinipur Division in Paschim Medinipur District.

Ref. This Office Memo No. 1929/CAMPA, dt. 09.08.2018

Sir,

With reference to the above, I am submitting herewith the revised Estimate of Proposal for Diversion of 3.7728 ha. Of Forest land in fovour of the WBSEDCL for construction of 33 KV Overhead Electric Line for the proposed Pirakata (33/11 KV) Sub-Station under Medinipur Division in Paschim Medinipur District as desired.

This is for your kind information and taking necessary action.

(R.N.Salla, IFS)

Enclo. :: As stated above.

Divisional Forest Officer, Medinipur Division.

Memo No-

1950 /2-CAMPA;

Dated, Paschim Medinipur, The

10/08/2018

Copy forwarded for information to:-

1. The Chief Conservator of Forest, Western Circle, West Bengal.

(R.N.Saha, IFS)

Divisional Forest Officer, Medinipur Division.

Estimate for raising agave and misc. plantation under electric line over 3.7728 ha.of Forest land in favour of the WBSEDCL for construction of 33 KV overhead Electric line at Pirakata. at Pirakata.

Sl.N o.	Item of Work	Unit	Qty	Rate(Rs	Amount
A	Advance Soil Work			./	
1	Cost of Agave, Sonalu (Cassia fistula) etc. (low height shrubs) seedling for one year old including cost of all acessories.	each	1200	10	12000.00
2	Survey and demarcation the area	MD	4	260	1040.00
3	Alignment and staking the planting pits	MD	4	260	1040.00
4	Digging planting pits at a spacing of 2.50mt x 2.50mt of size : $(0.60 +0.45)$ mt /2 x 0.45 mt x 0.45 mt over 1600 Nos. per ha =170.08 m <sup>3</sup>	MD	18	260	4680.00
5	Contingencies			H	40.00
	Sub-Total of Advance Work				18800.00
	Add GST @ 18% of labour compnent of Rs.6800.00				1224.00
	Total Advance work				20024.00
В	Creation Work				
6	Pit filling including mixing properly with cow dung mannure	Mandays	15	260	3900.00
7	Planting of seedlings in already dug and prefilled planting pits at a spacing of 2.50mt x 2.50mt, i.e. 1600 plants	Mandays	20	260	5200.00
8	Carriage of seedlings from nurseries to planting site	L.S.			1000.00
9	First mulching after three weeks of planting by loosening soil of the root zone of plants to improve root aeration and growth with application of fertilizer @ 50gm per plant		16	260	4160.00
10	Second mulching after three weeks of first mulching by loosening soil of the root zone of plants to improve root aeration and growth with application of fertilizer @ 50 gm per plant	Mandasy	14	260	3640.00
11	Third mulching after three weeks of Second mulching by loosening soil of the root zone of plants to improve root aeration and growth with application of fertilizer @ 50 gm per plant.	Mandasy	14	260	3640.00
12	Cost of supplying fertilizer @ 50 gm x 1600 Nos. plants x 3 times = 240 Kg (N:P:K) including carriage upto planting site	Kg ,	240	3,0	7200.00

1	1		. *	N.			
	13	Cost of supplying insecticides	L.S.				500.
	14	Application of insecticides	Manda	ys	5	260	1300.
	15	Cutting and maintenance of fire line during the period find January to March (three times)	rom Manda	vs	6	260	1560.0
	16	Cost of making brush wood fencing	Manday	'S	6	260	
	17	cost of watch & ward	Manday	S	168	260	
	18	Contingencies	L.S		-		244.0
		Sub-Total of Creation Work		-			1
		Add GST @ 18% of Rs.69884		+			77584.0
		Total :- Creation Work		+	-		12579.00
		Grand Total of Creation and advance work.		-	-		90163.00
(	+	First Year Maintenance	/		ř.		
19	V	acancy filling by planting good quality planting material	Mandays	5		260	1300.00
20	1	ost of watch & ward	Mandays	84		260	21840.00
21		rst mulching after three weeks of planting by loosening soil of e root zone of plants to improve root aeration and growth with plication of fertilizer @ 50gm per plant	Mandays	14		260	3640.00
22	Co	ost of supplying fertilizer @ 50 gm x 1600 Nos. plants x 3 nes = 240 Kg (N:P:K) including carriage upto planting site	Kg	240		-30	7200.00
3	Cui	tting and maintenance of fire line during the period from uary to March (three times)	Mandays	2	2	260	520.00
4	Rep	pair of fencing	Mandays	2	-		
5	Con	atingency	Traindays	2	1 2	260	520.00
-		Sub-Total of First Year Maintenance	/		1		100.00
					1	1	35120.00
							33120.00
		Add GST @ 18% of Rs.35120  Total:- First Year Maintenance			-		6322.00

D	Second Year Maintenance				
26	Vacancy filling by planting good quality planting material	Mandays	. 5	260	1300.0
27	First mulching after three weeks of planting by loosening soil of the root zone of plants to improve root aeration and growth.	Mandays	14	260	4160.0
28	Cutting and maintenance of Fire line during the period from January to March (three times)	Mandays	6	260	6240.0
29	Repair of fencing	Mandays	2	260	520.0
30	cost of watch & ward	Mandays	84	260	21840.0
31	Contingency	L.S.	2 7		100.00
	Sub-Total of Second Year Maintenance				34160.0
	Add GST @ 18% of Rs.56000		nie I-a	7	6149.00
	Total :- Second Year Maintenance		6		40309.0
Е	Third Year Maintenance	. /			
32	Vacancy filling by planting good quality planting material	Mandays	5	260	1300.00
33	Cutting and maintenance of Fire line during the period from January to March (three times)	Mandays	4	260	6240.00
34	Repair of fencing	Mandays	2	260	520.00
35	cost of watch & ward	Mandays	40	260	10400.00
	Sub-Total of Third Year Maintenance		Frank	6.616	18460.00
	Add GST @ 18% of Rs.18460				3323.00
	Tota l:- Third Year Maintenance				21783.00
	Cost of raising agave and misc. plantation under electric line and maintenance cost upto three years per ha				213721.00
	E 2 7739 L - V 212731 00	. 1	7		806326.59
	For 3.7728 ha. X 213721.00 per ha.				

Divisional Forest Officer, Medinipur Division